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SN =HIEHEH
M S AMA 25
CHel: S AYSEHAXR (&e &=
i} _ _ PN EN==
2N -3 - H2A(SH) - NHEAME - BHES Ol Ao Om;g; Hm=2t
101 Q14 14,830 474 14,356
10 JIZHI2Z2NEES 14,830 474 14,356
O ELZEA 22X o2 40,0008 x22 %140 11,200
O ELAZIF o 40,000 2% x30 2,400
O =013 240,000 »2H 480
O HALE 300
- HABE 140,000 x2H 280
- AU 10,0002 x2H 20
O MUHEE 150,00084 x2H 300
O nEsd 150
- AAZ 25,0002 x2H 50
- D=0oHH 50,0002 x2H 100
201 LEr=2HH| 150 0 150
01 At22telH 150 0 150
O NEHAT WHXDE 150,000 =1 150
202 O] 490 210 280
01 =2LHOIHI 490 210 280
O ELZE™ ARI A 70,000« 127 490
401 Al&HIZLL20HY] 4,800 5,300 2500
01 A&l 800 5,300 24,500
O ELHEA XH| RAE2HI(14E5F) 200,000 *43] 800
03 AlE=20iH] 4,000 0 4,000
O ELHHA KX E4H| 4,000
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FM: sgII=4dH
HE: =0 BM U
ol ABAE =R (e d e
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
- EY AFA FE 41X 3,000, 0003 * 14! 3,000
- ELHATELY JIAANE X B 1,000, 000& » 14! 1,000
405 AH&HFESHI 5,000 240 4,760
01 XML EEHSHI 5,000 240 4,760
O MEUHHE ELAXNEEALE P 5,000, 000% = 1CH 5,000
MAESHS &E Z 66,260 0 66,260
206 M=Hl 1,000 0 1,000
01 M=z 4l 1,000 0 1,000
Odligtetd] =24 1,000
-l 5,000& *100% 500
-S A 50,000& x10& 500
301 LptEa 1,260 0 1,260
10 SAHAS 1,260 0 1,260
OS M b 328 gl 7,000& x60H 33! 1,260
402 BItXHEO0 64,000 0 64,000
01 22X=Ex 64,000 0 64,000
Ovotbtetd] 3,000,000& »10ha 30,000
otu=ss 34,000
-€=D 1,300,000 = 10CH*50/100 6,500
-7 500,000 = 10CH*50/100 2,500
-AxE 5,000,000 x10&*50/100 25,000
&b XA 52,900 0 52,900
= 17,500
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A sII=4dH

HE: =0 BM U
=R MIlE Fa& A AY (o E
SA B SR(EH) - NRAY - B S 0f &t S Bl R E 2
OFEcl MESE MRS 1,800, 000& *10ha*60/100 10,800
ME2 MEH=E HEZE =4 AlY 4,800 0 4,800
< 2,400
= 2,400
402 QI2FHE0IH 4,800 0 4,800
= 2,400
= 2,400
01 BIAX=ExX 4,800 0 4,800
OMZ2 MEH=E MEE ZEAY 4,800,000 =17 2= 4,800
= 2,400
[ia 2,400
& J|g 2E 2 2el 960,932 709,585 251,347
22 HE ASst 731,684 495,395 236,289
LIHI2= MEf |8 XSt 10,490 2,940 7,550
101 /A4 1,462 0 1,462
10 JIZAH22AASES 1,462 0 1,462
OUHIZ2SHEl A 2182 32,0008 » 20€ * 29 1,280
OUHIZSHMEl A 218 =0I= 1,600,000& * 9% * 1/2 72
OUHIZSMEY ZAF IR ALEE 42
-dZEE 1,600,000 * 5.08% * 1/2 41
-HIIRAEE 41,0008 » 4.05% * 1/2 1
OUHIZZSME AL Q12 MTHEE 1,600,000 * 2.84% 46
OUHIZZSMEIEZAI 018 NS2E 22
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2N

;i;_j‘; FXHA Zﬁ.%i}ol Chel M)
CERI(BIH) - NIRAY - A S Akl e =
-Adg 1,600,000 * 0.9% * 1/2 8
- E 0o 1,600,000& * 0.85% 14
201 YB3 500 0 500
01 A2 500 0 500
outlzs 500& = 1,000& 500
202 O4dl 2,800 840 1,960
01 3L 2,800 840 1,960
O Lidl= 70,0003 = 2% = 2& » 108 2,800
206 M=l 2,500 1,500 1,000
01 M=z 4l 2,500 1,500 1,000
Outl=s ™ 2,500
-ZsY 10& » 50,000& = 504 2,500
301 et 3,228 0 3,228
09 942 3,228 0 3,228
O=sa 85,000& » 1H * 123 1,020
OAll| 5,000& = 1€ » 23 » 123 1,380
Ou sl 3,000& » 1€ » 23 » 123 828
=gl 242,090 153,400 88,690
101 124 H| 20,500 0 20,500
10 2J12HAl 20,500 0 20,500
O=3td 20,500
“HAZ 2 50,0003 x 14«10 7,000
-& A3 D] 50,0003 x4 +30 6,000
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FAHE S35t t A
SN BB SRI(5]) - IRA sl e 52
-EHEY 50,0002 * 10 15 7,500
201 et 16,360 16,840
01 AtR2teld 4,760 6,640
O=33&E UXNE A&elS 300& *1,000& 300
OZSIE M 70,000% *64] 420
O=eld =4 & 24 S204Hl 7,000 *3H «40 840
Q20091 &t 2l= =N AAMRAS &As=E 400,000& x8H » 1 3,200
03 A2 S| 11,600 10,200
O=3stdA2=2S 5,600
—QHLH HE X & 100, 000& 204 2,000
~HE(2) 12,000& *300H 3,600
O=S&HE OISk Xt 6,000
- AHEHI 500, 0003 «2CH 3 3,000
-EHEY 500,000& »2CH 3 3,000
202 O4dl 210 0 210
01 =LHOHI 210 0 210
Od= =3=HM%& #X0t2 od| 70,0003 x1H+3 210
206 M =4I 19,220 7,660 11,560
01 M=ol 19,220 7,660 11,560
O=ztdAl2 2IHE 7 11,420
-3 12,0003 602 720
-AE S&H 25,000& 100m" 2,500
-S= 9,000& *200m 1,800
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SN S HE
Hm: prg oJlp =5 L e
in]}

ol BBNE ASH (cel: @
SH-EH . O(E) - MBAY - B 0fl AF 08 S HRS2

ol A Iol= 14,000 %504 700
-HLIR 6,000& »200%& 1,200
—MAIZE HO AALH 2 10, 000& =400 m* 4,000
“HA2EA JIEFALR X 10,0003 *50& 500
O=3=2M A2 =27 7,800
-=3=M 3= 26,000& *300= 7,800

301 LBt A2 15,800 8,800 7,000

10 SEHAAHIEAZ 6,300 2,000 4,300
OUlstl= 2t NFJASALA 24| 7,000& x30H 30 6,300

12 JIEIEA= 9,500 6,800 2,700
O2009CHet 0= =2SUAE Al&tZ 9,500
—SESAMASREE A 1,500,000& *1H 1,500
& e X AFA 1,000,000& x1H 1,000
-SE2a 500,000& x6H 3,000
-8t H 20| 3| o & At 500,000& x2H 1,000
-2 24 200,000& x15H 3,000

401 AIEHIZ20HY] 170,000 120, 100 49,900

04 SHAF2HEH Al &I 170,000 115,000 55,000
OO0tg e 4 =382 EXSA 20,000
-AlEZE B 5,000,000& x 14! 5,000
-3 & ATY 10,000,000& x 1Al 10,000
-25/ZE/0HM ¥ 25 5,000,000& =14 5,000
Oz=d2& 282 AdXZ2A 60,000
-AlEE B2 25,000, 000& x 1A 25,000
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SH: SIS HE

=20

M P OY 25 U 22
2t
2

Chel: 2B AST (&e &
: . - PSS =
2N -3 - H2A(SH) - NHEAME - BHES Ol Ao OWE&“ Hm=2t

-3 Y AT 25,000,000 * 14! 25,000
-2 /X8/H L 25 10,000, 000! * 1Al 10,000
O=3=53 A2 =4 10,000, 000! * 1A 10,000
OMAMAZ =M 5,000,000 x1A! 5,000
OXEZMAH =M 20,000,000 * 14! 20,000
OOIQIMAIE =H 35,000,000 * 1Al 35,000
IS 232 AEZ2A 20,000,000 1Al 20,000

= 5} XH bH 245,735 139,284 106,451

201 LEt=2HH| 36,950 31,340 5,610

01 AtR22IH] 1,200 640 560
O=Z3MHH BSEE MZE 24D Uxt 400,000 *1CH*33] 1,200

02 2229H| 35,750 30,700 5,050
OSsia=24a Xl2tel 17,000
-Ltetd 2| 1,500 10,000 £ 15,000
-SXIE2H| 2,000,000 x 14! 2,000
Opc=24l |Xl2tell 17,000
-Ltetd 2| 1,500 10,000 £ 15,000
- X 22| 2,000,0008 x4l 2,000
OABEED| 29 1,750
-1 24| 1,500 «500 £ 750
-ZH| R XIH| 1,000,000 x1A! 1,000

202 O] 1,400 0 1,400

01 =LHO0IHI 1,400 0 1,400
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SN S HE
Hm: prg oJlp =5 L e
2t

ol BN ASE CEER-E)
SN HE - GS(EH) - HBAY - B 01l &k o S H DS 2

Olistel= U HIEAF Z S20I 70,000 x2Z +10 1,400

206 =4l 55,090 49,530 5,560

01 M=z 4l 55,090 49,530 5,560
O=33&88+< 5,960
-U= 1,000& x160& 6 960
-F2&Y 500& *4,000= 2,000
-S0= 10,000& *300=F 3,000
O=3H 8+ 9,900
“HsSaE 30,0003 300 9,000
-=2¢& 6,000& * 150 & 900
O=3tMtl st=2+ 3,500
-YAalgE 4,000& *5002 2,000
-JtalgtE 500& *3,0002 1,500
O=3tMbl s 6,500
-&ZH 15,0003 * 10 203 3,000
-a 2 Ml 10,0002 * 10 203 2,000
-G 2Nl 20,000& x5& x153] 1,500
O=3t&dl Hg+e 2,000
-Z2 0= 60,000 30 1,800
-AadsdlE 20,0002 10 200
OZ3 M 225 20 K2 15,490
-§2% 16,000& 100 1,600
-AH0I=EHOI 16,0002 =100 £ 1,600
-HQE 18,000& 30 540
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2AM: =
PAEL sSs Y 2
el A~E53 CHe
CEERI(BIH) - IS A Atol e =32t
AL 4,000& *50& 200
-ME I 3,000 5004 150
-S8SA 30,000&*102 300
AES 3503 *4 , 000K 1,400
-Z2LEHO| 3,000& *1,000H 3,000
-= ME A 10,000& *2002 2,000
ot RAI0I = 14,0003 * 1004 1,400
01221 35,000 60 &t 2,100
-LIR3tE 8,000& * 150 1,200
O=3} X bl 3,040
A pN-"1=] 120,000 *3H 360
-gHe A 4,000& =204 80
-HESA 40,000&*102 400
-HAEANE 1,500& *500H 750
-Suy 5,000 1004 50
-EESA 140,000& 102 1,400
O=3 Ml 2FEEMNXE ML 5,700
-0ALE 160, 000 *6CH 960
A0l 2HE 150, 000& *20CH 3,000
—2AHA 180& *3,000kg 540
A= 400& *3,000kg 1,200
O=3EM A2THF 3,000
-4 30, 000& *50H 1,500
-2 30,000 *50H1 1,500
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m
0

o
0

2. R () - NI AL

0x
i

22
J2

2A

R

J2H
0l
IS

207 A0 e

5,000

5,000

01 239l

OAlZ=3 432

S

5,000,000 » 14!

5,000
5,000

5,000

401 AEHIZ 20|

138,345

83,485

01 Al£HI

O=3Mii=22 X 18

Al
(= =]

=
NEA

O=3tHHi2

o
o

I
o
oy

10 all!
=

Jm
>

1A
0z

144,984,000 *0. 9%+ 1/2
144,984,000 +0.85%

144,984,000% +5.08%+1/2
3,683,000% *4.05%+1/2

100,000& 2 20

40,0003 x20H «30

40,000& *10& »202]
40,0003 x8H %252]
40,0003 9 x25
40,0003 x5 10

40,000 #1010
40,0003 «8H +10&

40,0002 *10& x 122

40,0002 «8H »63]

138,345
1,886
653
1,233
3,758
3,683
75
4,000
4,000
24,000
24,000
40,920
8,000
8,000
9,000
2,000
4,000
3,200
4,800
1,920

83,485
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A S| SHE

=20

M P OY 25 U 22
2t
2

ol BN ASE (el @e
SH-EH . O(E) - MBAY - B of Ao S HRS2
OUigAEs=Z22A 188 22 3,380
-AA=0 26,000,000 *9%=*1/2 1,170
-NEOHMAIY 26,000,000& *8.5% 2,210
OHHEMNEIEAN 2BE 22 15,000, 000& *5.08%*1/2 381
OHEAMNEIEAN BIIQYEE 2= 15,000,000 *4.05%*1/2 304
OHHEAMNEIZEAN MHEE 22 15,000,000& *27/1,000 405
201 LBt2AH| 22,340 17,590 4,750
01 ArR2t2|bl 840 0 840
OUIEIsH 2 S22 Ayl 7,000 *4H *30! 840
02 3329l 21,500 17,590 3,910
O HEHZHI(ER) 1,500 * 5,00021E = 1JHA 7,500
O HHISXNBI(HEAFHOIEHR 115) 500,000& = 12& 6,000
O YAE9Z =22 (S ULHIATS) 200,000& * 8F = 53| 8,000
206 M =4l 26, 100 18,000 8,100
01 M=Hl 26,100 18,000 8,100
O UHIANISTHZ P (AISEHAQI9E) 20,000& = 10 = 4504 9,000
O 85 oflgy P (SLMLIHIQ 28) 4,000& *3& = 8000t2| 9,600
O =AN2ESASIAU(HHSLNATS) 500,000& * 8& 4,000
O SSELIHID CIZA2 IHE2RU(LEZ2AQ 98) 50,000& * 10&=*5H 2,500
O SHUYF CZA2 MHBRU(S2I2AQ 48) 50,000& * 5400 1,000
207 A FIHEH| 6,000 4,000 2,000
03 A& AH2H| 6,000 4,000 2,000
O RNA ==8J|EQ 4537¢ 300,000& * 4F * 53] 6,000
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SH: SIS HE

A5 B3 oo &8 2 2
el BEY AS3 CLEL
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
401 Al&HI LS OHYI 16,350 15,000 1,350
01 Al&HI 16,350 15,000 1,350
O UHIZEAIE28Y 30,000& * 109& * 5H 16,350
405 RH&HFESHI 6,200 0 6,200
01 XML ESESFHS=HI 5,700 0 5,700
O Ll 9dolalE 28101 2L 5,000, 0003 =14 5,000
O UHl, 2= orZids 287 2 700,000 =14 700
02 SNz 500 0 500
O Utl, 228 d2ME 2 50,000 *10& 500
LiHI2E 20 &2t 8,781 7,600 1,181
101 QI24H| 4,381 0 4,381
10 JIZtH2Z2AHSE+ 4,381 0 4,381
Oubdl=2s Z2H2% 2te| 212y 32,000& * 1202 * 19H 3,840
Outl2s E=2M% 22 98 NE2E 4,800,000 * 9% * 1/2 216
Outl2s E=XMa 22 ef ALEH 125
- ALEE 4,800,0002 * 5.08% * 1/2 122
“AIRAEH 122,000 * 4.05% * 1/2 3
OUHIZSE H2MZ 22l 2R ATHEE 4,800,000& = 2.84% 137
OutdlZ2& Z=2H% 2l 28 NELE 63
-AA=N 4,800,000& * 0.9% » 1/2 22
-1ZEoHAM 4,800,000& = 0.85% 41
206 M =4l 4,400 4,000 400
01 TH=ZHl 4,400 4,000 400
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TR AS3) Crol &2l
- Bl (31 ) g Atol e =32t
OE=H el M3 4,400
-2+ =2 (100%) 40,000& * 11Z = 100H 4,400
HEtdsitE 2 21,320 15,900 5,420
201 Let2 1,800 1,800 0
03 SHAI2 1,800 1,800 0
O=Ed 450,000& = 204 = 23] 1,800
202 O4d] 2,520 2,100 420
01 =Udo 2,520 2,100 420
O=Ed 70,0003 * 3YH x 22 * 33 1,260
OLtdl&2 70,000& * 3H x 22 * 33 1,260
206 M= H| 17,000 12,000 5,000
01 M ZHl 17,000 12,000 5,000
OLIH|MEf 2t =&EZ A2 P (HEILIR 95) 5,000& = 105 x 50F*23] 5,000
Ooudlgelll s #¢ 45,000& * 2= = 10004 9,000
OArZE LiHl, 28 45 & ofgd ¢ 10,000& * 10& * 300tcl 3,000
seol=2 2353 29 39,528 26,786 12,742
201 LBt AL 18,788 11,386 7,402
01 AFR22lb| 6,788 1,386 5,402
O=3st=s33 29 888
—REYS 2EIY 2203 60001 *43| 528
-=cItE M 60,000 x6 & 360
O=23=33 WKRIA =& 300, 000& x1H *33] 900
O=3=s33 WEWM HE 10,000& *500% 5,000
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FM: sgII=4dH
Mo @z oo 2E U 2
el BEY AS3 EE R
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
02 23294l 2,000 2,000 0
O=sts3s3 =24 ®Azeld 2,000
- A 2=l 2,000, 000% » 14! 2,000
03 &HAr2EHI 10,000 8,000 2,000
O=Z3st=33d dAES EEMNE 25,0003 4004 10,000
206 M=l 10,740 7,900 2,840
01 THZ 4l 10,740 7,900 2,840
O=zt=33 22N st 26,000& 4002 *60% 6,240
O=zt=s=3 s+ 3,000& 500 *33| 4,500
301 LptBaz 10,000 7,500 2,500
07 Qrztol=2loi| 10,000 7,500 2,500
O=zt=33 aiddH= 2,000,000& *54H 10,000
Lidl MEH=& MAXK =4 15,800 0 15,800
202 O4Hl 700 0 700
01 U0l 700 0 700
O M= HAX =4 =& o] 70,0003 * 2% * 53] 700
206 M=l 9,500 0 9,500
01 =4l 9,500 0 9,500
O BX IE & LTHL THE(LESQ 48) 20,000& * 5& * 5004 5,000
O =2 S48 gy & HAJl 2L (AEHYILIEIL 45) 3,000& = 55 3000t 4,500
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ZE: B OlE HE U 2l
Sl GOILIEl RHEOHE (o E
SA BB S(S) - NRAY - BES of & o S DB
101 1A 4] 8,640 0 8,640
10 JIZN2E2NSES 8,640 0 8.640
OFZ AT 2| 8.640
“H=EY 32,0003 «20E x3 x4 3| 7,680
-ElHl ¥ HZAIE 32,0003 * 15 »23] 960
201 LerE=g| 18,000 18,000 0
01 AtR2cibl 18,000 18,000 0
OFEZSAANY SIS Xt 450% %40, 000m’ 18,000
202 044l 700 420 280
01 2LHOHI 700 420 280
OFZASMHY A=A SEEHHI 70,0003 x2E %53 700
206 M=l 8,800 8,500 300
01 M=Hl 8,800 8,500 300
O&lHl+¢ 4,000& *1,000% 4,000
O2sd Hz7Y 9,000 200 1,800
OJIet M+ 500,000& 35 *22] 3,000
402 2I2tXt=01d 80,000 113,000 A33,000
01 QItXt=2Ex 80,000 113,000 A.33,000
OFZELX A & 2SN (MOISXE) 20,000,0003 *1JH 2~ 20,000
ORE&EAE =HTH I bH 12,000,000 »10ha*50% 60,000
ZT L SAAMY 29,140 25,450 3,690
101 1A 4] 15,200 0 15,200
10 JIZHZ2Z2XNSES 15,200 0 15,200
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SHel: OfDIILIEl Xpope (el &2
A -H2A(EAH) - MY - BES Ofl &F 2K a%ggi; Hlns2t
OZBHI ZAANY 15,200
-IIE 2 SIEY 32,0002 *3% x5 x53| 2,400
-EEX 32,0002 * 10 15 4,800
-RI == 32,0002 x10% x2 x53] 3,200
-2F L THEY 32,0002 x 102 15 4,800
201 Lgr2 9y 7,500 7,000 500
02 2324 7,500 7,000 500
OEZEIRA 29 YA 1,500 *5,000 £ 7,500
206 M 2HI 6,440 5,700 740
01 M2HI 6,440 5,700 740
OZEI Z4 W27 4,640
-SRME 6,600 *400% 2,640
-SRAX 2 Y 1,000,000 25 2,000
OJIEt 2= 300,000 *35 *23] 1,800
of SHONTHHH A SOHY At 5,060 11,620 AB,560
201 Lty 4,500 4,200 300
02 B332gHl 4,500 4,200 300
O% ZA ALGRA HEtA2H 1,500 %3, 000 £ 4,500
202 O1H 560 420 140
01 =LHOIH 560 420 140
O% AEIML N2FAF EF 0 70,0002 x22 43| 560
SSM HBSAY 28,788 0 28,788
101 21244l 2,368 0 2,368
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-IFE 2 M=EEZ 32,0002 «6H »43] 768
- E5Y 32,0003 10 »5& 1,600
202 0d4l 1,120 0 1,120
01 SLHAHI 1,120 0 1,120
OESEM AZEAL EH I 70,0003 »2H «83] 1,120
206 M =4l 300 0 300
01 =4I 300 0 300
O=S=M S AIEMbH 300
Sk 2 MY 300,000& 14! 300
402 QI2H+E0M 15,000 0 15,000
01 CIAX=Ex 15,000 0 15,000
S=M HWSXE AHE 3,000, 000& *5ha 15,000
405 XtobE S| 10,000 0 10,000
01 H=ZFHSHI 10,000 0 10,000
OS=M ==J] M& 2 10,000,000& 14! 10,000
22 XEE X357 SEAY 50,120 0 50,120
101 /A4 16,000 0 16,000
10 JIZAH22ASE S 16,000 0 16,000
O£2Z =82 =317 |E 16,000
-SA IEY 2el 40,000& x20H »22 1,600
-XE &Y 40,0002 x 15 10 +23] 12,000
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206 M ZH| 34,120 0 34,120
01 =4l 34,120 0 34,120
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-E87Y 8,000,000&*1& 8,000

-RRAE 6,400& 800 5,120
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01 JI2A2gHRF=X 3,300 3,000 300
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- Jl=E2 350,000& = 12& 4,200
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- =X 160,000& * 123 1,920
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- HY=Z 30,000 » 1H = 255¢ 7,650

- FYU=ZA 50,000 » 2H = 110 11,000

02 2324l 62,444 62,064 380

O 2RIl 24,171
-gss 4,950, 0002 *1CH 4,950

- S8sg 3,808,000& *2CH 7,616

- SIS (U=SEER) 4,500,000 = 1CH 4,500

- 2832(HEY) 2,605,000& *1CH 2,605

- 232 () 4,500,000 = 1CH 4,500

O Xt& HIIEAM =2 30,000& * 6CH 180
O EAMSY83 3L 500, 000& *2H A= x13] 1,000
O ™R3 32,280
- A WE2 Y AEE 2,500,000 » 1A + 12 30,000
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- HesE 476,200& + 104 = 13 477

- SE€s¥ 61,0008 * 204 » 13 122

- SIS (ns8ER) 45,0008 = 100 = 12 45

- 28slE 27,0003 » 20H * 12 54

O NsiEdg= 1,489

- HEgsE 520,000& * 10H = 13 520
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